MEMORANDUM

TO:

Richard Dionisio, Supervisor/Mayor

and Town Board Members

FROM:

Gerry Salvo, Superintendent of Recreation

DATE:

February 22, 2022

SUBJECT:

Monthly Report - January 2022

Attached please find the monthly program and activities report for the Harrison Recreation Department for the month of January 2022

Harrison Recreation Department Attendance and Program Report: January 2022

Sollazzo Activity	Number of Sessions	Number of	Number of Participants	
Men's Soccer	4	11-12	47	
Fitness Room Day	26	17-18	450	
Fitness Room Nights	22	9-10	208	
Men's Basketball	9	15	135	
Sollazzo Center Drop In Day	25	15-16	390	
Sollazzo Center Drop In Nights	25	11-12	285	
Adult Pick-Up Basketball	4	15	60	
Cyber Crawler Robot	1	19	19	
Future Engineers	2	8	16	
Tumbling	2	19	38	
Cheer	5	76	380	
Archery	3	18	54	
Southeast Consortium	2	20	40	
TOTALS	210	TOTALS	2122	

Leo Mintzer Center	Number of Sessions	Number of Participants	
AA Meetings	9	11-12	102
Battle for Salvation	5	11-12	56
Parents Helping Parents	4	9	36
LMCC Drop in Day	18	7-8	142
LMCC Drop in Night	17	6-7	111
Minds in Motion	1	11	11
Boy Scouts	1	18	18
Girl Scouts	22	12-13	25
TOTALS	57	TOTALS	501

West Harrison Seniors	Number of S	essions	Number of Participants	
Game Day Drop In - Bridge, Mahjongg, Canastra	18		3	54
Lunch Program	14		4	56
Exercise Class	4		. 7	28
Bingo/Thursday Meetings	3		16-17	50
TOTALS	39		TOTALS	188

Harrison Recreation Department Attendance and Program Report: January 2022

West Harrison Annex Community Center	Number of Sessions	Number of Participants	
TOTALS		TOTALS	

West Harrison Park	Number of Sessions	Number of Participants
1		
TOTALS		TOTALS

Harrison Community Center & Veterans Building	Number of Sessions	Number of Participants	
AA Meetings	10	30	300
South East Consortium	2	40	80
South East Consortium – Play Rehearsal	1	25	25
Harrison Players	6	25	150
Yoga	5	25	125
Blood Drive	1	45	45
Dance	8	30	240
TOTALS	22	TOTALS	965

Harrison Recreation Department Attendance and Program Report: January 2022

Down Town Seniors	Number of Sessions	Number of Pa	Number of Participants	
Game Day Drop In - Bridge, Mahjongg, Canastra	20	23	460	
Lunch Program	9	13-14	125	
Exercise Class	4	~ 12	48	
Bingo/Friday Meetings	4	40	160	
TOTALS	37	TOTALS	793	